NAME: OGUNDIJO LYDIA DOLAPO

MATRIC NUMBER: 18/SMS01/025

Question 1: Public expenditure will continue to grow. Discuss

Public expenditure is spending made by the government of a country on collective needs and wants such as pension, provision, infrastructure, etc. There are several factors that have led to an enormous increase in public expenditure through the years, these are;

I. Population growth – It increases with the increase in population, more of investment is required to be done by government on law and order, education, infrastructure, etc. investment in different fields depending on the different age group is required. A high growth of population naturally calls for increase in the expenses as all State functions are to be performed more extensively. Rising population also poses various problems in poor countries. The State will have the added responsibility of solving such problems as food, unemployment, housing and sanitation. Further, overpopulated countries like India will have to check the population growth. The State has, therefore, to spend more and more on family planning campaigns every year.
II. Welfare activities – welfare, mid-day meals, pension provisions etc.
· Provision of public and utility services – provision of basic public goods given by government (their maintenance and installation) such as transportation.
· Increase in public revenue – with the rise in public revenue government is bound to increase the public expenditure.
· International obligation – maintenance of socio-economic obligation, cultural exchange etc. (these are indirect expenses of government), etc.
III. Wars and social crises – fighting amongst people and communities, and prolonged drought or unemployment, earthquake, hurricanes or tornadoes may lead to an increase in public expenditure of a country. This is because it will involve governments to re-plan and allocate resources to finance the reconstruction.
IV. Inflation – This is the general rise in the price level of goods and services. It increases the cost of all activities of the public sector and thus a major factor in growth in money terms of public expenditure. With the rising prices, the government has to keep on increasing public expenditure to carry out its functions and maintain the supply of public goods intact. During inflation, the government has to pay additional DA to its employees which obviously call for an extra burden on public expenditure.
V. The Urbanisation Effect- The spread of urbanisation is an important factor leading to the relative growth of public expenditure in modern times. With the growth of urban areas, there has been an increasing tendency of expenditure on civil administration. Expenses on water supply, electricity, provision of transport, maintenance of roads, schools and colleges, traffic controls, public health, parks and libraries, playgrounds, etc. have increased enormously these days. Likewise, the expenditure on courts, prisons etc. is increasing, especially in the urban sector.
The amount of money a government spends each year on public goods and related activities ranges from a few million dollars to hundreds of millions and even billions of dollars, depending on the size of the government. Historically, government expenditures have been growing consistently over the years, especially at the federal level, raising some serious concerns in recent years. While the growth trend remains a concern, government expenditures serve a number of vitally important purposes. In addition to dealing the market inefficiencies, such as those discussed earlier, government expenditures are necessary to stabilize the economy, to maintain a strong national defense, to provide public goods, and to deal with specific needs of society such as redistribute income that a free market system will not or cannot address on its own. Using Nigeria as a case study, the federal government allocate huge amount of money for the provision and maintenance of basic infrastructure like roads, schools, hospital etc. Nigerian government spend huge amount of money on the development of social overheads, economic services and for the creation infrastructures for economic growth and most times, these funds are mismanaged, misappropriated, misplaced or even wasted, thus resulting in failed and incomplete execution of government projects. Throughout the years from 1980 till date government expenditure has continued to rise marginally on annual basis, yet no commensurate improvement on the economy.

Question 1a- Explain the various canons of public expenditure with appropriate scenarios

A. Canons of Maximum Social Benefit: The principle of maximum social benefit, as canons of public expenditure, implies that the Government should plan it’s expenditure in a manner as to promote the greatest good of the greatest number. The activities of public authorities Include the primary activities as the civil administration and defense of  the country etc. For government to spend a unit of the revenue, the use must the beneficial to majority of the citizens in that state. This canon implies that public expenditure should be planned in such a way as to yield maximum social advantage and social welfare to the community as a whole and not to a particular group of the community. For example, there are some villages like Onitsha where people people suffer from lack of water, considering the situation in such a state, it is reasonable for government to provide them with pipe borne water because it will yield maximum social advantage and social welfare of the community as a whole. 

B. Canons of Economy: The canon of economy , as canons of public expenditure, suggests that the State should be economical in spending. It implies two things, Firstly; the Government should not spend more than the amount required to be spent on particular item of expenditure. Secondly, The State should spend money in such a way that might develop the productive capacity of the community as much as possible. The first consideration has reference to the present while second consideration has reference to the future. The main aim of the canon is to avoid the wastage and extravagance of any kind. In this reference, it is necessary to check duplication of expenditure. In this connection, the Government should see that the expenditure should not produce , any adverse effect on production and on the will and the power of the people to sue .

C. Canon of equality: According to this canon, public expenditure should be incurred in such a way that the glaring inequalities in the distribution of income and Wealth are minimized. The expenditure pattern of the government should be so designed to benefit the poorer sections of the community. Expenditure programmes should be ordained to provide more educational facilities, medical benefits, cheap housing facilities, old age pension and other social security measures to the vulnerable sections of the community. For achieving this canon, public expenditure should be planned according to specific programmes and prioritized as per the availability of funds. A modern welfare state should incorporate all the canons of public expenditure. 

D. Canon of sanction: Canon of sanction has considerable significance in a democratic government. This canon requires that the public authorities should spend money, only after obtaining prior sanction from the concerned authority for the specified purpose. This is done as a safeguard against the possibility of unwise and reckless expenditure. Experience has taught the people that all unauthorized spending leads to extravagance and overspending. Without proper sanction there is the danger of misappropriation of funds and possibility of unnecessary spending of public money on the part of highly placed government employees.

Question 1b: why do government borrow? Looking at the economic situation of Nigerian states will you advise borrowing? Justify your answer.  

There are many different reasons for government borrowing, these are;

1. Tax revenues are less than predicted- borrowing means the government can meet a temporary shortfall by borrowing, rather than having to immediately cut back on spending. Like an overdraft facility, government borrowing gives the government more flexibility and means they can maintain wages and spending commitments without having to keep cutting spending.

2. Political: The biggest tendency to borrow comes from political pressures. Voters generally like to hear the promise of lower taxes and increasing spending. A manifesto to tackle a budget deficit (higher taxes and lower spending) is unlikely to be popular. Voters often are supportive of the general idea of reducing government debt, but when it comes to actual policies like lower benefits, higher pension age, increased VAT rate, then it is likely to hit some particular pressure group with a vested interest in maintaining low tax and spending. For a government to increase borrowing is generally less politically damaging than increasing taxes. 

3. It’s cheap: Governments like the UK can usually borrow at very low-interest rates, especially during an economic downturn. This is because people have confidence government bonds are secure and so are willing to lend at low-interest rates. When borrowing costs are low, it can be more desirable to borrow than raise taxes.

4. War: During a war, government spending is stretched leading to higher borrowing. The highest rates of borrowing occurred during the two world wars. Also, during wars, it may be easier to sell bonds as you can play the patriotic card to encourage people to finance government borrowing.

5. Investment. The government may invest in public sector investment. For example, building schools, hospitals, better roads. This investment can give a return on the investment which helps to boost productive capacity and increase economic growth.  In this case, the government is acting like a firm who takes out a loan to finance investment.

            As at January 26, 2020 it was recorded that Since coming into office in 2015, the Buhari administration has ballooned the nation’s debt to as high as $86 billion. Nigeria’s borrowing remains sustainable in the short, medium to long term levels, guided by the DMO objective of prudence. But the problem is not necessarily that we are borrowing, the problem is that we are spending some 60 per cent of national revenue on debt servicing. Without a truthful and forthright government’s acceptance of the debt situation, Nigeria’s chances of escaping its self-inflicted debt trap are fleetingly small. 

             I would not advise borrowing for Nigerian government because from the above it has been noticed that the more they borrow, they more they enter into debt trap ie they settle their previous debts by borrowing and that will just keep increasing the debt of the country. 

Question 2- What are the indicators of a laissez faire economy by Adams Smith?

            When people are given the freedom to be the best they can be, the result is the rich and the poor have a better economic situation. The purpose of government is not to make everyone equal. It cannot happen, but rather give everyone the freedom to make choices on their own enlightened self-interest. The philosophers of the enlightenment believed that the role of government was to protect the rights of the individual so people and society as a whole would be happier. The only two things that can hold you back are wrong thinking or wrong government. It believed that men basically have the same innate ability to do well in life if given a chance. This means freedom. When people are given the freedom to be the best they can be, the result is the rich and the poor have a better economic situation. The poor are the ones who win in the free trade capitalism of Adam Smith. 

Question 2a- As a new Chief Economic advise your state, how best you want your tenure to be remembered, noting that government cannot do it all alone.

        At present, there are lots of wastages, a lot of leakages, a lot of money has been wasted through consultancies, a lot of high and inflated contracts, a lot of undone jobs already paid for. These are enough areas I’m going to block as the Chief Economists. I will block all leakages and ensure that the money in Osun is spent for Osun people. The idea is to further establish linkages with national processes in a way to achieve the global Sustainable Development Goals. Then, for the implementation of our programmes, we are going to maximally harness the Osun State’s human and capital resources to lay a solid foundation for an enduring turn-around of the state as an economically prosperous, socially harmonious and a model in democratic governance in Nigeria. Our goal is to ensure that everyone everywhere has access to inputs to thrive, and assets to protect human dignity.
            Hence, I am going to reinforce human capital development to ensure that we increase performance and ensure we drive them and encourage them, motivate them, professionalise them and train them, so that they can deliver our goods, our manifestos and visions. I will make sure teachers are recruited. Presently, there are challenges already identified which are long standing obstacle to economic growth and investment in the state, especially in agricultural area, a very critical sector which engages more than 75 per cent of the population of the state, and its neglect is impacting negatively on the economic yield of major cash crops and produce. But I will make the government engage in partnership drive implementation to build sustainable investment linkages with the private sector and strengthen the engagement of other providers, including the civil society and community based organisations.
Question 2b- with practical examples identify the canons of taxation as proposed by Adams Smith. How practical are the canons to Nigeria?

a) Canon of Equality: “The subjects of every State,” Smith asserted, “ought to contribute towards the support of the Government as nearly as possible in proportion to their respective abilities, that is, in proportion to the revenue which they respectively enjoy under the protection of the State. In the observance or neglect of this maxim consists what is called the equality or inequality of taxation.” Equality here does not mean that all tax-payers should pay an equal amount. Equality here means equality or justice. It means that the broadest shoulders must bear the heaviest burden. If everyone is asked to pay taxes according to his ability, then sacrifices of all taxpayers become equal. This is the essence of canon of equality (of sacrifice). To establish equality in sacrifice, taxes are to be imposed in accordance with the principle of ability to pay. In view of this, canon of equality and canon of ability are the two sides of the same coin. For example, comparing a big company like Dangote and a small biscuits selling business. Dangote as a huge company can afford a lot more than the biscuits business so tax burden shouldn't be placed heavily on the biscuits seller. 

b) Canon of certainty: Adam Smith further said, “The tax which each individual has to pay ought to be certain and not arbitrary. The time of payment, the amount to be paid ought all to be clear and plain to the contributor and to every other person.” The individual should know exactly what, when and how he is to pay a tax otherwise it will cause unnecessary suffering. Similarly, the State should also know how much it will receive from a tax.The tax which an individual has to pay should be certain and not arbitrary. According to A. Smith, the time of payment, the manner of payment, the quantity to be paid, i.e., tax liability, ought all to be clear and plain to the contributor and to everyone. Thus, canon of certainty embraces a lot of things. It must be certain to the taxpayer as well as to the tax-levying authority. For example, a school owner should be asked to pay tax when the school has resumed and when school fees has been paid.

c) Canon of convenience: Smith wrote, “Every tax ought to be levied at the time or in the manner which it is most likely to be convenient to pay it.” Obviously, there is no sense in fixing a time and method of payment which are not suitable. Land revenue in India is realised after the harvest has been collected. This is the time when cultivators can conveniently pay. Taxes should be levied and collected in such a manner that it provides the greatest convenience not only to the taxpayer but also to the government. Thus, it should be painless and trouble-free as far as practicable. For example, a salary earner who earns salary at the end of the month can only pay tax once he is paid at work. If he is asked to pay at the middle of the month, he would not be able to pay because he has no money at that moment so it will not be comfortable for him.

d) Canon of economy: Lastly, Adam Smith held that “every tax ought to be so contrived as both to take out and keep out of the pockets of the people as little as possible over and above what it brings into the public treasury of the State.” This means that the cost of collection should be as small as possible. If the bulk of the tax is spent on its collection, it will take much out of the people’s pockets but bring very little into the State’s pocket. It is not a wise tax. This canon implies that the cost of collecting a tax should be as minimum as possible. Any tax that involves high administrative cost and unusual delay in assessment and high collection of taxes should be avoided altogether. For example, the resources used to get equipments shouldn’t be more expensive than the amount to be collected. 
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